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java.util.String Tokenizer
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String s = "910359,0|2AM|,E";

StringTokenizer t = new StringTokenizer(s, ",");
t.nextToken(); // "910359"

t.nextToken(); // "O|=AM|"

t.nextToken(); // "&"

t.nextToken(); // NoSuchElementException
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String s = "$13.46";

StringTokenizer t = new StringTokenizer(s, "$.");
t.nextToken(); // "13"

t.nextToken(); // "46"

t.nextToken(); // NoSuchElementException




class StringTokenizer
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new StringTokenizer (String text,

String delim)

text252E 22|XIE deliml =2 EX1E E235}
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nextToken(): String
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nextToken(String new_delimiters):

String
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hasMoreTokens(): boolean
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countTokens(): int
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PrintWriter ofile
new PrintWriter

(new FileWriter("file.txt"));
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lmport java.io.*; 10 2fo|E2{2| Al

public class Outputl { IOExceptionOI dheich =~ QUKL
public static void main(String[] args) throws IOException {
PrintWriter outfile =
new PrintWriter(new FileWriter("test.txt"));
outfile.println("Hello to you!™");
outfile.print("How are");
outfile.println(" you?");
outfile.println(47+2);
outfile.close();
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O FileReader ZtiA| BufferedReader ifile =

—1olol A O new BufferedReader
R (new FileReader("file.txt"));
O OE VY| HAEER

O AMMA| IO 7| RER

f2|C} QIO 0f|Q] HHAK. 4 N | ~
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O FileReader Zix| E&
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import java.io.*; import javax.swing.*

public class CopyFile {
public static void main(String[] args) throws IOException {
String f = JOptionPane.showInputDialog("Input filename, please: ");
BufferedReader infile = new BufferedReader(new FileReader(f));
PrintWriter outfile = new PrintWriter(new FileWriter(f + ".out"));
while (infile.ready(Q)) {
outfile.println(infile.readlLine());

}

infile.close();
outfile.close();
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import java.io.*; import javax.swing.¥*;

public class CopyFile {
public static void main(String[] args) throws IOException {
JFileChooser chooser = new JFileChooser();
chooser.setDialogTitle("SAte TS MEHSIML.");
int result = chooser.showDialog(null, "Copy");
if(result !'= JFileChooser.APPROVE_OPTION)
System.ex1t(0);
String f = chooser.getSelectedFile().toString();
BufferedReader infile = new BufferedReader(new FileReader(f));
PrintWriter outfile = new PrintWriter(new FileWriter(f + ".out"));
while (infile.ready()) {
outfile.println(infile.readlLine());
ks
infile.close();
outfile.close();
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BufferedReader keyboard =

new BufferedReader(new InputStreamReader(System.1in));
String s = keyboard.readLine();
\_ 4
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import java.io.*; import java.util.*;

public class PayrollReader {
private BufferedReader infile;
private String EOF = "!";
private String name;
private int hours, payrate;

public PayrollReader(String file_name) {
infile = new BufferedReader(new FileReader(file_name));

3
public String nameOf() { return name; }

public int hoursOf() { return hours; }
public int payrateOf() { return payrate; }
public void close() { infile.close(); }
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public boolean getNextRecord() {
1f(!'infile.ready()) return false;
String line = infile.readLine();
StringTokenizer t = new StringTokenizer(line, "[");
String s = t.nextToken().trim(Q);
1f(s.equals(EOF) || t.countTokens() != 2) return false;
name = s;
hours = new Integer(t.nextToken().trim()).intValue();

payrate = new Integer(t.nextToken().trim()).intValue();
return true;
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import javax.swing.*;

public class Payroll {
private static void processPayroll(String in, String out) {
PayrollReader reader = new PayrollReader(in);
PayrollWriter writer = new PayrollWriter(out);
while(reader.getNextRecord()) {
int pay = reader.hoursOf() * reader.payrateOf();
writer.printCheck(reader.nameOf(), pay);

}

reader.close(); writer.close();
by
public static void main(String[] args) {
String in_name =
JOptionPane.showInputDialog("Plead type input payroll name: ");
String out_name =
JOptionPane.showInputDialog("Plead type output payroll name: ");
if(in_name '= null && out_name != null)
processPayroll(in_name, out_name);
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public boolean getNextRecord() {

1f(!'infile.ready()) return false;

String line = infile.readLine();

StringTokenizer t = new StringTokenizer(line, "[");
String s = t.nextToken();

1f(s.equals(EOF) || t.countTokens() != 2) return false;
name = s;

hours = Integer.parselnt(t.nextToken());

payrate = Integer.parseInt(t.nextToken());

return true;
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public boolean getNextRecord() {
boolean result = false;

try {
if(infile.ready()) return false;

String line = infile.readLine();
1f(!s.equals(EOF) && t.countTokens() == 2) {

result = true;
¥

¥
catch (IOException e) {

System.out.println("PayrollReader error:

}

return result;

}

+ e.getMessage());
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public boolean getNextRecord() {

boolean result = false;

try {
1f(infile.ready()) return false;

String line = infile.readlLine();

if(s.equalsCEOF)) {
1f(t.countTokens() == 2) {

result = true;

}
else {
System.out.println("PayrollReader: bad record format: "
+ line + " Skipping record");
result = getNextRecord();
¥
}
}

catch (IOException e) {

}

return result;

System.out.println("PayrollReader error: " + e.getMessage());
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public boolean getNextRecord() {
boolean result = false;

try {

i%t!s.equals(EOF)) {
if(t.countTokens() == 2) {

result = true;
hy

else throw new RuntimeException(line);

}

}
catch (IOException e) {

System.out.println("PayrollReader error:
}

catch (RuntimeException e) {
System.out.println("PayrollReader error: bad record format: "
+ e.getMessage() + " Skipping record");
result = getNextRecord();

+ e.getMessage());

}

return result;

}
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Exception in thread "main" java.io.FileNotFoundException: /Volumes/Pamela/
Users/oukseh/11.csv (Permission denied)
at java.io.FilelnputStream.open(Native Method)

N

at java.io.FilelnputStream.<init>(FileInputStream.java:120)
at java.io.FilelnputStream.<init>(FilelnputStream.java:79)
at java.io.FileReader.<init>(FileReader.java:41)

at CopyFile.main(CopyFile.java:11)
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. Object
.~ Throwable )

/( Exception |
. InterruptedException )( RuntimeException ) |OException |

ArithmeticException FileNotFoundExcepti

ArraylndexOutOfBounds EOFException

Exception

InterruptedOExceptio
ClassCastException

NullPointerException
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private int readAnIntFrom(BufferedReader view) throws IOException {
int num;
try {
System.out.print("Type an int: ");
String s = view.readlLine();
num = Integer.parselnt(s);

h

catch (Exception e) {
System.out.println("Error: " + e.getMessage()
+ " not an integer; try again.");

num = readAnIntFrom(view); // restart return num;

n

Exception ECH= RuntimeException
RuntimeException2CH= NumberFormatException

e
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public class ExceptionExample {
public ExceptionExample() { }
public void f(O) {
try { gO; }
catch (RuntimeException e) { System.out.println("caught at f"); }
System.out.println("f completes");

¥
public void g()
{ try {

PrintWriter outfile = new PrintWriter(new FileWriter("text.out"));
try { outfile.printlnC h(Q) ); }
catch (NullPointerException e)
{ System.out.println("null pointer caught at g"); }
}
catch (IOException e)
{ System.out.println("io error caught at g"); }
System.out.println("g completes");
}
private int hQ) {
int[] r = new int[2];

return r[3]; // ArraylndexOutOfBoundsException!

} _
fS 2=olH F& Z0| EHZT?
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O throw new RuntimeException("A");

O throw new RuntimeException("B");

O try { ... } catch (RuntimeException e) {
String m = e.getMessage();
1f(m.equals("A")) ... 1f(m.equals("B")) ...



s
0= O2IS =X A0

O Y2 AFEXF2| o2 AFE

class MyExceptionA extends Exception {}
class MyExceptionB extends Exception {}
throw new MyExceptionA();

throw new MyExceptionB();

try { ... }

catch (MyExceptionA e) { ... }

catch (MyExceptionB e) { ...}

o O O O O



